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INEQUALITY QUESTIONS

1. Statements: A>B;C>G;A>H;B>C;1=B
Conclusions:
I.C>H
ILH>B
1H.B>G
IV.1>A
A. Only I is true
B. Only Il is true
C. Either 1 or Il true
D. Neither I nor Il is true
E. Only Il is true

Answer & Explanation
Answer — E. Only 111 is true

2. Statements: A=B; C<F; G>C; B<F
Conclusions:

I.F<B

ILF>G

I".A>G

IV.A>C

A. Only Ilis true

B. None is true

C. Only I and Il are true
D. Only Il and 11 are true
E. Only IV is true

Answer & Explanation
Answer — B. None is true

3. Statements: A<H, G=H; G>M; O<M
Conclusions:

I. G2A

II. G0

1. H>M

IV. H<G

A.Only I, Il and Il are true
B. Only Il is true

C.Only IV is true

D. Only I and IV are true

E. None is true

Answer & Explanation
Answer —D. Only I and 1V are true

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

4, Statement : P> Q>R <S<T
Conclusion:

L T>R

I.T>Q

IHL.R<P

IV.Q>P

A. Only | is true

B. Only Il is true

C. Only I and Il are true

D. Only I and 1V are true

E. AllL 11, 11l and 1V are true

Answer & Explanation
Answer — C. Only I and 111 are true

5. Statement : P<Q>R>S<T
Conclusion:

I. T>R

I.LP<R

1.Q>S

IV.S<P

A. Only | is true

B. Only Il is true

C. Only Ilis true

D. Only IV is true

E. Both | and Il are true

Answer & Explanation
Answer — B. Only 111 is true

6. Statements: M<N<O=P; N = Q Conclusions: i. P>M, ii. Q<O
A.Only Iis true

B.Only Il is true

C.Either I or Il true

D.Neither I nor Il is true

E.Both I and Il are true

Answer & Explanation
Answer — E.Both | and Il are true

7. Statements: A>N=I>W<0O<P; O>S; T<N
Conclusions: i. P>S, ii. A<W

A.Only Iis true

B.Only Il is true

C.Either I or Il true

D.Neither I nor Il is true

E.Both | and Il are true

Answer & Explanation
Answer — A.Only | is true
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8. Statements: M>N>0>P<Q<R
Conclusions: i. M>Q, ii. N<R

A.Only lis true

B.Only Il is true

C.Either I or Il true

D.Neither I nor Il is true

E.Both I and Il are true

Answer & Explanation
Answer — D.Neither | nor Il is true

9. Statements: M<P<G = F>B; H>F<I; J>P
Conclusions: P<B, M<H

A.Only Iis true

B.Only Il is true

C.Either I or Il true

D.Neither | nor Il is true

E.Both I and Il are true

Answer & Explanation
Answer — B.Only Il is true

10. Statements: M<P<G = F>B; H>F<I; J>P
Conclusions: H>J, B<I

A.Only Iis true

B.Only Il is true

C.Either I or Il true

D.Neither I nor Il is true

E.Both I and Il are true

Answer & Explanation
Answer — B.Only 11 is true

Direction(1-5): Study the following information to answer the given questions
A$B means A is not smaller than B

A@B means A is neither smaller than nor equal to B

A#B means A is neither greater than nor equal to B

A&B means A is neither greater than nor smaller than B

A*B means A is not greater than B

1. Statements: O& A, A$R,R#S,5S*Q
Conclusions:
Q@R
In.s@o
HNH.R&O
IV.R#0O
A. Only I is true
B. Only Il is true
C. Only IV is true
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D. Either Il or IV is true
E. Either Ill or IV and | are true

Answer
Answer — E. Either 111 or IV and | are true

2. Statements: A*E,E$F,F#0,0@ L
Conclusions:
I.L#F
ILE@O
IHILA#O
IV.E@L

A. None is true
B. Only I is true
C. Only Il is true
D. Only Il is true
E. Only IV is true

Answer
Answer — A. None is true

3. Statements:B@ Q,Q#A/ A&L,L*N
Conclusions:

I.LNSA

I.L@Q

IH.B@N

IV.Q#N

A. 1, Il and Il are true
B. I, Il and IV are true
C. I, Il and IV are true
D. I, lll and IV are true
E. All are true

Answer
Answer —B. I, Il and IV are true

4. Statements: E#M, M*N,N@ O,0 $P
Conclusions:
I.P#M

II.P#N

IHIL.M#0O
IV.N@E

A. Il and Il are true
B. Il and IV are true
C. lll and IV are true
D. I, and IV are true
E. All are true

Answer
Answer — D. I, and IV are true
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5. Statements: ASEEE@F,F*G,G#H
Conclusions:
IH@E
I.ASG
IHL.E@H
IVA@F

A. None is true
B. Only lis true
C. Only Ilis true
D. Only Il is true
E. Only IV is true

Answer
Answer — E. Only IV is true

Directions (Q.No — 6-10) In these questions, relationships between different elements is shown in the
statements. These statements are followed by two conclusions.

Give Answer

A. If only Conclusion | follows

B. If only Conclusion Il follows

C. If either Conclusion I or Il follows

D. If neither Conclusion I nor 11 follows

E. If both Conclusions I or Il follow

6. Statement: B>E<N<Q<R=S
Conclusions:

I. S>E

11.Q<B

Answer
Answer — A. If only Conclusion | follows

7. Statement: P>Q>R<E=G>N
Conclusions:

I. P>G

Il. R>N

Answer
Answer — D. If neither Conclusion I nor Il follows

8. Statement: A>S>P>0=E
Conclusions:

1. P>E

1. S>E

Answer
Answer — B. If only Conclusion Il follows
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9. Statement: A=B>C, D<C
Conclusions:

1. A>D

I1. B>D

Answer
Answer — B. If only Conclusion Il follows

10. Statement: P>R<Q=D>E>0O
Conclusions:

. P>E

I1. Q>0

Answer
Answer — B. If only Conclusion Il follows

In which of these expressions ‘U > W’ be definitely false?
A. U>P>Q=G>R>W

B. P<A<U<T;W>0>T

C. W<A<L=R<U

D. U>C>=F<H; W<F

E. U>T=0>P; W<J=P

Answer & Explanation
Answer — B. P<A<U<T;W>0>T

2. Which of the following symbols should be placed in the blank spaces respectively(in the
same order from left to right) in order to complete the given expression in such a manner that both
‘N>Q’ as well as ‘Q<M’ definitely holds true?M N P Q R

A> > <=

B. >, >, 2’ <

C.22<<

D.z =2<

E. Other than those given as options

Answer & Explanation
Answer —D. >, =, >,<

In Which of the following expressions does the expression ‘D=V’ to definitely hold true?
>D<R=P<S<V

v
<
v
<
T
A
>
v
O

C>Q>B=N<V
D=A<B<S<V
E=G>W=Y>D

MO QWP w
<oUuckw
IV IV IV

Answer & Explanation
Answer—E.V>E=G>W=Y2>D

4, Which of the following expressions is true if the expression P<T<=B>S>M>=A is definitely
true?
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Answer & Explanation
Answer—D. A<B

5. In which of these expressions ‘S >V’ and ‘V > B’ be definitely false?
A. S>P>Q=G>R>V>B

B. P<A<S<T;V>0O>T<B

C. B>V<A<L=R<S

D. S>C>=F<H; B>V<F

E. S>T=0>P; B<V<J=P

Answer & Explanation
Answer — B. P<A<S<T;V>0>T<B

6. Which of the following symbols should be placed in the blank spaces respectively(in the
same order from left to right) in order to complete the given expression in such a manner that both
‘B>S’ as well as ‘E<F’ definitely holds true?B_A_S E _D_F _G

A. >, Z, <, =<<

B. >, >, 2, <,>,=

C.2,22<>>

D.>=>=<=

T Ty 3

E. Other than those given as options

Answer & Explanation
Answer —D. >, =,2, =<, =

7. In Which of the following expressions does the expression ‘L=T" and “E>W” to definitely
hold true?

A.E>W<R=P<S<T

B.U>T>M=W<E>L

CL=C>E=W=NC<T

DE>W=A<B<S<T

ET>E=G>W=Y2>L

Answer & Explanation
Answer—-E. T>2E=G>W=Y>L

8. Which of the following expressions is true if the expression P<T<=Q>= R > SSM>=W>A =
R is definitely true?

A W<P

B.S<P

C.M<R

D.W>Q

E.T<M
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Answer & Explanation
Answer—-C. M <R

9. In which of these expressions ‘P > R’ and ‘P = R’ be definitely true?
A. S>P>Q=G>R>V

B. P<A<SS<T<R;V>0O>T

C. VSA<L=R<S=P

D. P>S>C>=F<H; V<F<R

E. S>ST=0>P; V<J=P>R

Answer & Explanation
Answer — A. S>P>Q=G>R>V

10. In which of these expressions ‘T > P’ and ‘T = P’ be definitely false?
A. T>S>P>Q=G=R>V

B. P<ASS<T;V>0>T

C. VSA<L=R<S

D. S>C>=F<H=P<Q-=T; V<F

E. S>T=0>P; V<J=P

Answer & Explanation
Answer — B. P<A<S<T;V>0>T

®

In which of these expressions ‘I > K’ be definitely false?

A. PP>Q=G=R>K

B. P<A<I<T;K>0>T

C. K<A<L=R<I

D. I>C>=F<H; K<F

E. >T=0=P; K<J=P

Answer & Explanation

Answer — B. P<A<I<T;K>0>T

¢ Which of the following symbols should be placed in the blank spaces respectively(in the same
order from left to right) in order to complete the given expression in such a manner that both ‘F>N’
as well as ‘N<B’ definitely holdstrue?B_ A _N_E _F

A > > < =

B.> > > <

C.2,22>2<

D.>, = <<

E. Other than those given as options

Answer & Explanation

Answer —D. >, =, <<

e In Which of the following expressions does the expression ‘I>D’ to definitely hold true?
A.K>I<R=P<S<D

B.U>D>M=F<A>I

C.I2C=2Q=B=N=D

D.G>I=A<B<S<D

ED>E=G>W=Y2>I

Answer & Explanation

Answer—C.I>2C>Q=>B=N>D
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¢ Which of the following expressions is true if the expression P<T<B>S>MZ2>E is definitely true?
A.E<P

B.S<P

C.M>P

D.E<S

E.T<M

Answer & Explanation

Answer —D.E<S

e Statements: Y<K<D=S;D<B<O;A>D<Z
Conclusions:i. A>B,ii.Y<Z

A.Only | is true

B.Only Il is true

C.Either I or Il true

D.Neither I nor Il is true

E.Both I and Il are true

Answer & Explanation

Answer — B.Only 11 is true

o Statements: H<L<I=K; L = B Conclusions: i. K>H, ii. B<I
A.Only l'is true

B.Only Il is true

C.Either I or Il true

D.Neither I nor Il is true

E.Both I and Il are true

Answer & Explanation

Answer — E.Both I and Il are true

o Statements: A>Z=R>N<J<E; J>F; K<Z
Conclusions: i. E>F, ii. A<N

A.Only lis true

B.Only Il is true

C.Either I or Il true

D.Neither I nor Il is true

E.Both I and Il are true

Answer & Explanation

Answer — A.Only 1 is true

o Statements: U>J>S>C<B<M
Conclusions: i. U>B, ii. J<M

A.Only Iis true

B.Only Il is true

C.Either I or Il true

D.Neither I nor Il is true

E.Both I and Il are true

Answer & Explanation

Answer — D.Neither I nor Il is true

o Statements: G<S<A = N>B; F>N<O; D>S
Conclusions: S<B, G<F

A.Only Iis true

B.Only Il is true

C.Either I or Il true

D.Neither I nor Il is true

E.Both I and Il are true
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Answer & Explanation
Answer — B. Only Il is true
o Statements: C<L<A = N>G; R>N<S; F>L
Conclusions: R>F, G<S
A.Only I is true

B.Only Il is true

C.Either I or Il true
D.Neither I nor Il is true
E.Both I and Il are true
Answer & Explanation
Answer — B.Only 11 is true

1. Statements: D>E; F>M;D>0; E>F; N=E
Conclusions:
I.LF>0
I1.O>E
IH.E>M
IV.N>D
A.Only | is true
B. Only Il is true
C. Either 1 or Il true
D. Neither I nor Il is true
E. Only Il is true

Answer & Explanation
Answer — E. Only 111 is true

2. Statements: P=Q; R<D; E>R; Q<D
Conclusions:

I.D<Q

I.D>E

I.P>E

IV.P>R

A. Only Ilis true

B. None is true

C. Only I and Il are true
D. Only Il and 11 are true
E. Only IV is true

Answer & Explanation
Answer — B. None is true

3. Statements: B<P, E>P; E>Q; L<Q
Conclusions:

1. E>B

II. E>L

1. P>Q

IV. B<E

A.Only I, Il and 111 are true

B. Only Il is true
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C. Only IV is true
D. Only I and 1V are true
E. None is true

Answer & Explanation
Answer —D. Only I and IV are true

4, Statement : A>N>M<B<L
Conclusion:

ILL>M

I.L>N

H.M<A

IV.B>A

A. Only | is true

B. Only Il is true

C. Only I and Il are true

D. Only I and IV are true

E. All I, 11, Il and IV are true

Answer & Explanation
Answer — C. Only I and 111 are true

5. Statement :B<A>W>V<X
Conclusion:

LX>W

I.B<W

IHL.A>V

IV.V<B

A. Only 1 is true

B. Only Il is true

C. Only Ilis true

D. Only IV is true

E. Both I and Il are true

Answer & Explanation
Answer — B. Only 111 is true

6. Statement: P>M>F<A=B>Q
Conclusions:

1. P>B

1. F>Q

A. If only Conclusion I follows

B. If only Conclusion Il follows

C. If either Conclusion | or Il follows
D. If neither Conclusion I nor Il follows
E. If both Conclusions I or Il follow

Answer & Explanation
Answer — D. If neither Conclusion I nor Il follows
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7. Statement: B>D<M<P<A=E
Conclusions:

l.E>D

11.P<B

A. If only Conclusion | follows

B. If only Conclusion Il follows

C. If either Conclusion | or Il follows
D. If neither Conclusion I nor Il follows
E. If both Conclusions | or 11 follow

Answer & Explanation
Answer — A. If only Conclusion I follows

8. A>ST>Q>R=E

Conclusions:

1. Q=E

1. T>E

A. If only Conclusion | follows

B. If only Conclusion Il follows

C. If either Conclusion | or Il follows
D. If neither Conclusion | nor 11 follows
E. If both Conclusions I or Il follow

Answer & Explanation
Answer — B. If only Conclusion Il follows

9. Statement: S=R>A, P<A
Conclusions:

1. S>P

I1. R>P

A. If only Conclusion I1 follows

B. If only Conclusion | follows

C. If either Conclusion | or Il follows
D. If neither Conclusion I nor Il follows
E. If both Conclusions I or Il follow

Answer & Explanation
Answer — A. If only Conclusion 11 follows

10. Statement: A>M<Y=7>F>B
Conclusions:

1. A>F

1. Y>B

A. If only Conclusion I follows

B. If only Conclusion Il follows

C. If either Conclusion | or Il follows
D. If neither Conclusion I nor 11 follows
E. If both Conclusions | or 11 follow

Answer & Explanation
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Answer — B. If only Conclusion Il follows

[ )

In which of these expressions ‘B > E’ be definitely false?

A. B>P>Q=G>R>E

B. P<A<B<T;E>O>T

C. ESA<L=R<B

D. B>C>=F<H; E<F

E. B>T=0>P; E<J=P

Answer & Explanation

Answer — B. P<A<B<T;E>O0>T

¢ Which of the following symbols should be placed in the blank spaces respectively(in the same
order from left to right) in order to complete the given expression in such a manner that both
‘O>N’ as well as ‘G<M’ definitely holds true? M_A _N_G_O
A> > <=

B.>>2><

C.2>22>2<

D.>, = 2><

E. Other than those given as options

Answer & Explanation

Answer — D. >, =, >,<

¢ In Which of the following expressions does the expression ‘Z>D’ to definitely hold true?
A.K>Z<R=P<S<D

B.U>D>M=F<A>Z

C.Z>C>Q>B=N=D

D.G>2Z=A<B<S<D

ED>E=G=2W=Y2>Z

Answer & Explanation

Answer—C.Z>C>Q=>=B=N2>D

¢ Which of the following expressions is true if the expression P<T<B>S>M2>A is definitely true?
A.A<P

B.S<P

C.M>P

D.A<B

E.T<M

Answer & Explanation

Answer—D. A<B

o Statements: Y<K<D=S;D<B<O;A>2D<Z
Conclusions: i. A>B,ii. Y <Z

A.Only Iis true

B.Only Il is true

C.Either I or Il true

D.Neither I nor Il is true

E.Both I and Il are true

Answer & Explanation

Answer — B.Only Il is true

o Statements: GSL<F=E; L = A Conclusions: i. E>G, ii. A<F
A.Only Iis true

B.Only Il is true

C.Either I or Il true
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D.Neither I nor Il is true

E.Both I and Il are true

Answer & Explanation

Answer — E.Both | and Il are true
o Statements: B>Z=R>M<J<Y; J>Q; K<Z
Conclusions: i. Y>Q, ii. B<M
A.Only I is true

B.Only Il is true

C.Either I or Il true

D.Neither I nor Il is true

E.Both I and Il are true

Answer & Explanation

Answer — A.Only | is true

o Statements: VI>S>C<A<L
Conclusions: i. V>A, ii. IL
A.Only I is true

B.Only Il is true

C.Either I or Il true

D.Neither | nor Il is true

E.Both I and Il are true

Answer & Explanation

Answer — D.Neither | nor Il is true
o Statements: C<L<A = N>E; Q>N<O; D>L
Conclusions: L<E, C<Q

A.Only lis true

B.Only Il is true

C.Either I or Il true

D.Neither I nor Il is true

E.Both I and Il are true

Answer & Explanation

Answer — B.Only Il is true

o Statements: C<L<A = N>E; Q>N<O; D>L
Conclusions: Q=D, E<O

A.Only lis true

B.Only Il is true

C.Either I or Il true

D.Neither | nor Il is true

E.Both I and Il are true

Answer & Explanation

Answer — B.Only 11 is true

[ )

Statements: D>E; F>A;D>C;E>F;B=E
Conclusions:

I.F>C

I.C>E

IH.E>A

IV.B>D

A. Only | is true

B. Only Il is true

C. Either I or Il true
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D. Neither I nor Il is true

E. Only Il is true

Answer & Explanation
Answer — E. Only 111 is true

o Statements: A>B;C=B;E>F; A<D;B>F
Conclusions:

I.C<E

I.D>B

I1.A>F

IV.E>D

A. Only Ilis true

B. Only Il is true

C. Il and I are true

D. Either I or Il true

E. land Il are true

Answer & Explanation
Answer — C. Il and 111 are true
e Statements: A>E; K>=M; ESL;L=K;G<L
Conclusions:

LA>M

II.M<L

. K<A

IV.A<L

A. Only | is true

B. Only Il is true

C. Either I or 1l true

D. Neither I nor Il is true

E. lll and IV are true

Answer & Explanation
Answer — B. Only Il is true

e Statements: I=K; M<0; Q>M; K<O
Conclusions:

I.O<K

11.0>Q

M.1>0Q

IV.1>M

A. Only IV is true

B. Only Il is true

C. Only I and Il are true

D. Only Il and Il are true

E. None is true

Answer & Explanation
Answer — E.None is true

o Statements: C>A; E=G; K<I;C<E;C<M; G=>1
Conclusions:

I.G<K

II.LA=E

. 1<M

IV.A<E

A. Only I is true
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B. Only IV is true

C. Only Il is true

D. None is true

E. All are true

Answer & Explanation

Answer — B. Only IV is true

e Statements: S=T; U<O;S<U;P>Q;Q>T
Conclusions:

I.LP>S

1.Q>S

".o>T

IVv.T<U

A. Only lis true

B. Only Il is true

C. Only I 'and Il are true

D. All are true

E. Only Il and IV are true

Answer & Explanation

Answer — D. All are true

o Statements: A>C; G>E; GZC; R<I; K<I
Conclusions:

. A>G

I1.C>E

III. IZK

IV. C<K

A.Only I, Il and 111 are true

B. Only Il is true

C.Only I, Il and IV are true

D. Neither I nor Il is true

E. None is true

Answer & Explanation

Answer — A. Only I, Il and 111 are true
e Statements: M<Q, 0=Q; O>R; P<R
Conclusions:

1. O=M

I1. O>P

1. Q>R

IV. M>0

A.Only I, Il and 11 are true

B. Only Il is true

C. Only Il is true

D. Neither I nor Il is true

E. None is true

Answer & Explanation

Answer — C. Only 1 is true

e Statements: B<D; D<E; E=S; S>T; U>S; S<V
Conclusions:

i. B<T

ii. B<U

iii. UsS
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iv. T<V

A.Only I, Il and 111 are true

B. Only Il is true

C. Only Il and IV are true

D. Neither I nor Il is true

E. None is true

Answer & Explanation

Answer — C. Only Il and 1V are true

e Statements: A<C; F>H; H=A; J>L; L>F
Conclusions:

1. J>A

1. C=H

I1. H<C

IV.L<H

A. Only Iis true

B. Only Il is true

C. None is true

D. Either Il or Il and | are true

E. All are true

Answer & Explanation

Answer — D. Either Il or 11l and | are true
[ ]

Statements: Q> R, P>R,P=02>T,S > U>Q
Conclusions:

L.S>R 11.P<T HL.Q<T IV.U>R
A.Only I is true

B.Only Il is true

C.Only Il is true

D.Only IV is true

E.All are true

Answer & Explanation

Answer —D.Only 1V is true

Explanation :

S>U>Q>R<P=0>T

e Statements: E<D, F>C, D<F, C>A=B
Conclusions:

I.A<E 11.F>B 11.E>C 1IV.B>C
A.Only Iis true

B.Only Il is true

C.Only Il is true

D.Only IV is true

E.All are true

Answer & Explanation

Answer — B.Only Il is true

Explanation :

E<D<F>C>A=B

e Statements: O=R, P=N>I, M>R, N >M
Conclusions:

1.0<I I1.R<N H.N<I 1V.O=l
A.Only Il is true
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B.Only Il is true

C.None is true

D.Either I or IV and Il are true

E.All are true

Answer & Explanation

Answer — D.Either I or IV and Il are true
Explanation :

O=R<M<N=P>I

o Statements: P<A>S, B=Q>T, SSM<T
Conclusions:

I.P<T ILS<T HIL.M<Q IV.B=M
A.Only | is true

B.Only Il is true

C.Only 11l true

D.Only IV is true

E.All are true

Answer & Explanation

Answer — C.Only I true

Explanation :

P<A>S<M<T<Q=B

o Statements: GSI<LN>K=H,N=F>G
Conclusions:

ILH<G 11.G<I HLK=G IV.K<G
A.Only Il and IV is true

B.Only Il and Il is true

C.None is true

D.Either Il or IV and 1l are true

E.All are true

Answer & Explanation

Answer — D.Either 111 or IV and Il are true
Explanation :

H=K<N=F>G<J< 1

e Statements: D<A<E<L,A=K>N,L>K>M
Conclusions:

1.D>M 1.L>M IHNLKSN IV.M<A
A.Only lis true

B.Only Il is true

C.Only I and Il are true

D.Only Il and IV are true

E.All are true

Answer & Explanation

Answer —D.Only Il and IV are true
Explanation :

D <A =K>N

L>A=K>M

e Statements: X>S=T<U,Y=Z>V>U, S=W>0
Conclusions:

1.S=W I.T<Y HL.X>0 IV.TSV
A.Only I'and IV are true

B.Only Il is true
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C.Only Il and Il are true

D.Either I or Il and | are true

E.All are true

Answer & Explanation

Answer — E.All are true
Explanation :

X >S=T=W>0
X>S=T<U<SV<Z=Y

o Statements: F<XH>T<B,A>Q =B, T>K=G
Conclusions:

LA>T I.T=G HLK<A IV.F>T
A.Only I and Il are true

B.Only I and Il are true

C.Either I or 111 are true

D.Either I or IV and Il are true
E.All are true

Answer & Explanation

Answer — B.Only I and 111 are true
Explanation :

A >Q=B>T<H>F

F<H>T>K=G
A>Q=B>T>K=G

e What should come in place of question mark to make S>Q always true?
R<T>P=S>R ? O >Q

A>

B.=

C>

D.All of these

E.None of these

Answer & Explanation

Answer — D.All of these
Explanation :
R<T>P=S>R=0>Q

R<T>P=S>R >0 >Q

R<T>P=S>R >0 >Q

e What should come in place of question mark to make E<I always true?
D>E<F=M?K<C ?1

A< <

B.< <

C=2>

D> <

E.None of these

Answer & Explanation

Answer — A.5, <

Explanation :

D>E<F=M<K<C<I

1.

Statements: M<V; P<R; P=M; S>T; R<T
Conclusions:
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. S>M

1. V=P

1. P<V

IV. T<P

A. Only | is true

B. Only Il is true

C. None is true

D. Either Il or Il and | are true
E. All are true

Answer & Explanation

Answer — D. Either Il or Il and I are true
Explanation:

P=M<R<T<S; M<V

2. Statements: B<P; P<S; S=M; M>F; Q>M; M<O
Conclusions:

i. P<F

ii. B<Q

iii. Q>M

iv. F<O

A.Only I, Il and Il are true
B. Only Il is true

C. Only ILII1 and 1V are true
D. Neither I nor Il is true

E. None is true

Answer & Explanation

Answer — C. Only IL 111 and 1V are true
Explanation:

B<P<S=M>F; Q>M<0O

3. Statements: A>B; F<E; A<D; F<B;C=B
Conclusions:
I.C<E

II.D>B

IIILA>F

IV.E>D

A. Only Ilis true

B. Only Il is true
C. Either 1 or Il true
D. Il and Il are true
E. I and Il are true

Answer & Explanation
Answer —D. Il and 111 are true
D>A>B=C>F<E

4, Statements: P=M; Q<R; T>Q; M<R
Conclusions:
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I.LM<R

ILR>T

H.P>T

IV.P>Q

A. None is true

B. Only lis true

C. Only I and Il are true
D. Only Il and Il are true
E. Only IV is true

Answer & Explanation
Answer — B. Only | is true
Explanation:
T>Q<R>M=P

5. Statements: S=A; R<T; R=2S;P>Q; Q> A
Conclusions:

I.LP>S

1.Q>S

1. T<A

IV.A>=R

A. Only | is true

B. Only Il is true

C. Only I 'and Il are true
D. Only Il and 1V are true
E. All are true

Answer & Explanation

Answer — C. Only I and 11 are true
Explanation:

P>Q>A=S<R<T

Direction(6-10): Study the following information to answer the given questions
P$Q means P is not smaller than Q

P@Q means P is neither smaller than nor equal to Q

P#Q means P is neither greater than nor equal to Q

P&Q means P is neither greater than nor smaller than Q

P*Q means P is not greater than Q

6. Statements: ASM,P@ L, K#P,A$L
Conclusions:
I.K#L
ILA@P
H1.L*A
IV.M#P

A. None is true
B. Only I is true
C. Only Il'is true
D. Only I is true
E. Only IV is true
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Answer & Explanation
Answer — D. Only 111 is true
Explanation:

7. Statements: W*N, K*V, Y@V, W @ K
Conclusions:
.Y @ K
I.W$N
HIwW@yY
VW@V

A. None is true
B. Only I is true
C. Only Ilis true
D. Only Il is true
E. Only IV is true

Answer & Explanation
Answer — B. Only I is true
Explanation:
N>W>K<V<Y

8. Statements: T*Y,S#M,Y$S, M@ K
Conclusions:
I.K#S
LY@
HLT#M

V.Y @ K

A. None is true
B. Only Il is true
C. Only Ilis true
D. Only I is true
E. Only 1V is true

Answer & Explanation
Answer — A. None is true
Explanation:

T<Y>SK

9. Statements: S@ L, L#¥M, M&B,B*Q
Conclusions:

.LQ$M

I.B@L

H.S @ Q

IVL@Q

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

A. |, Il and Il are true
B. I, Il are true

C. I, Il are true

D. I, Il and IV are true
E. All are true

Answer & Explanation
Answer — B. I, Il are true
Explanation:
S>L<M=B<Q

10. Statements: C#P,P*L,L@E,E$M
Conclusions:
I.M#P
In.M@L
H.P#E
IV.L#C

A. None is true
B. Only lis true
C. Only Ilis true
D. Only Il is true
E. Only IV is true

Answer & Explanation
Answer — A. None is true
Explanation:
C<P<L>E>M

[ ]

Statements: P> Q; R>M; P>0; Q>R; N=0Q
Conclusions:

ILR>0O

11.0>Q

n.Q>M

IV.N>P

A. Only Il is true

B. Only Il is true

C. Either l or 1l true

D. Neither I nor Il is true

E. Only Il is true

Answer & Explanation
Answer — E. Only 111 is true
o Statements: A>B; C=B;E>F;A<D;B>F
Conclusions:

I.C<E

II.D>B

I1.A>F

IV.E>D

A. Only Il is true

B. Only Il is true
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C. Either I or 1l true

D. Il and I are true

E. I and Il are true

Answer & Explanation
Answer — D. Il and 111 are true
o Statements: P>Q; S>U; Q<T; R=S; R<T
Conclusions:

LP>U

In.u<T

HI.S<P

IV.P<T

A. Only lis true

B. Only Il is true

C. Either 1 or Il true

D. Neither I nor Il is true

E. lll and IV are true

Answer & Explanation
Answer — B. Only Il is true

o Statements: A=B; C<D; E>C; B<D
Conclusions:

I.D<B

I.D>E

IH.A>E

IV.A>C

A. None is true

B. Only Il is true

C. Only I and Il are true

D. Only Il and Il are true

E. Only IV is true

Answer & Explanation
Answer — A.None is true

o Statements: Q>P; R=S5; U<T,; Q<R; Q<V;S>T
Conclusions:

I.S<U

I.P>R

H.T<V

IV.P<R

A. Only I is true

B. Only IV is true

C. Only Il is true

D. None is true

E. All are true

Answer & Explanation
Answer — B. Only IV is true

o Statements: W=X; R<C; W<R;A>2B;B>X
Conclusions:

LA>W

I.B>W

I.C>X

IV.X<R
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A. Only lis true

B. Only Il is true

C. Only I 'and Il are true

D. Only Il and 1V are true

E. All are true

Answer & Explanation

Answer — E. All are true

e Statements: T>0; S>R; S<O; R<F; U<F
Conclusions:

. T>S

I1.O>R

II1. F>U

V. O<U

A.Only I, Il and 111 are true

B. Only Il is true

C.Only I, Il and IV are true

D. Neither I nor Il is true

E. None is true

Answer & Explanation

Answer —A. Only I, Il and 111 are true
o Statements: B<U, E>U; E>V; LV
Conclusions:

I. E>B

II. E2L

1. U>v

IV. B<E

A. Only I, Il and 11 are true

B. Only Il is true

C. Only I and IV are true

D. Neither I nor Il is true

E. None is true

Answer & Explanation

Answer — C. Only I and IV are true

o Statements: C<R; R<N; N=M; M>F; Q>M; M<O
Conclusions:

i. R<F

ii. C<Q

jii. Q<M

iv. F<O

A.Only I, Il and 11 are true

B. Only Il is true

C. Only Il and IV are true

D. Neither I nor Il is true

E. None is true

Answer & Explanation

Answer — C. Only Il and IV are true
o Statements: N<Q; R>P; P=N; S>T; T>R
Conclusions:

. S>N

1. Q=P

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

1. P<Q

IV.T<P

A. Only Iis true

B. Only Il is true

C. None is true

D. Either Il or Il and | are true

E. All are true

Answer & Explanation

Answer — D. Either Il or Il and | are true
Direction (1-6): Relationship between different elements is shown in the statements. Find if the
conclusions also follow or not.

1. Statements: A>L>H>M=D<G<F;, U<SK=P>M; N=K<S
Conclusions:
I.LA>S
I.LA=S
A) only | follows
B) only Il follows
C) either | or 1l follows
D) neither I nor Il follow
E) both I and 11 follow

Answer

Option D

Solution:

A>M<K<S

So relationship cannot be determined between A and S. For either or condition, all three <, >, = sign
should be present in conclusion

2. Statements: B<G<V=F>H; K=L>F<N=P; D>N=S
Conclusions:

I.LH<S

I.B<P

A) only | follows

B) only 11 follows

C) either I or 1l follows

D) neither I nor Il follow

E) both I and I1 follow

Answer
Option E

3. Statements: V<L=D<K>H>S; P<K=D>E;, K=F<Z
Conclusions:

.Z>L

ILE<V

A) only | follows

B) only 11 follows

C) either I or 1l follows

D) neither I nor Il follow

E) both I and 1 follow
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Answer

Option B

Solution:
Z>K=D=L,SoZ>L

4, Statements: K=L<D<G=P;U>E=D>X<B;P>0>V<S
Conclusions:

.LV<X

I.P>X

A) only | follows

B) only II follows

C) either | or 1l follows

D) neither I nor 11 follow

E) both I and 11 follow

Answer
Option B

5. Statements: K=L<D<G=P;,U>E=D>X<B;P>0>V<S
Conclusions:

LU>K

I.P>B

A) only | follows

B) only II follows

C) either I or 1l follows

D) neither I nor Il follow

E) both I and 11 follow

Answer
Option A

6. Statements: B<G<V=F>H; K=L>F<N=P; D>N=S
Conclusions:

LL>G

I.D>K

A) only | follows

B) only 11 follows

C) either I or 1l follows

D) neither I nor Il follow

E) both I and 1 follow

Answer
Option A

7. Which of the following would replace & and # in the following expression so that ‘A > N’
holds true?
A>L>H&M=D<G<F; USK=M>P; N#K<S
A) ==
B)>,>
2,2
D)<, =
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E) None of these

Answer

Option A

Solution:
A>L>H=M=K=N,SoA>N

8. In which of the following expressions does the expression ‘G < S’ definitely hold true?
A)A=S<F>H=K>G>D

B)D>A=G>B=F<S<H

C)A<O>G<H=H<S>B

D)G=U<B=S<H=0<A

E) None of these

Answer
Option C

9. In which of these expression ‘L > R’ is definitely false?
AYW<R>S>Q<N>A>L>V
BIN>L>M=D>B=A>P=R
COM<A>L>W=>V<B=P<R
D)S>L=C>H=V>P<R=T
E)B>R<A=M=Q<T=L<G

Answer

Option B

Solution:

in B) —L>Rso ‘L >R’ is definitely false

In A), C) and D) — relation between L and R cannot be determined, so cannot be told that
whether ‘L > R’ is definitely false or not.

InE) - L>Ristrue

10. Which of the following expressions is definitely false if the expression K>0=G<D>F=P
> Q < T is definitely true?

A)K>D

BYF>T

C)F<G

D)D=Q

EYP<O

Answer

Option D

Solution:

D < Q in given expression, so D = Q is definitely false

Direction (1-6): Relationship between different elements is shown in the statements. Find if the
conclusions also follow or not.

1. Statements: H>O=U>B<L=P;D<N=B>S>K
Conclusions:
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l.LK<L

I.H>K

A) only | follows

B) only II follows

C) either I or 1l follows
D) neither I nor Il follow
E) both I and Il follow

Answer
Option A

2. Statements: B<N=T>G>H=F;, G>L=D>V;L>W=A
Conclusions:

I.LA<H

I.V<B

A) only I follows

B) only Il follows

C) either I or 1l follows

D) neither I nor 11 follow

E) both I and 11 follow

Answer
Option D

3. Statements: F>V=T>G<L<D=S;E=Q<T<N;Q>P=W
Conclusions:

I.D>N

ILF>W

A) only | follows

B) only Il follows

C) either I or 1l follows

D) neither I nor Il follow

E) both I and 11 follow

Answer
Option B

4, Statements: N>D>F>J;E<L<G<S<P<F;G>W
Conclusions:

W<

I.J<W

A) only | follows

B) only Il follows

C) either I or 11 follows

D) neither I nor Il follow

E) both I and 11 follow

Answer

Option C

Solution:

W <G <S<P<F>J.Sono relation between W and J, so
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1) either W > J or W <] follows OR
2) either W < J or > J follows which is given case

5. Statements: H>L=G>S<L<W;S>W>P=R<V;P<X=0
Conclusions:

I.W>R

I.O>R

A) only I follows

B) only 11 follows

C) either | or 1l follows

D) neither I nor 11 follow

E) both I and 11 follow

Answer
Option E

6. Statements: V<E=D=W>L;F>S=D<K;L>R=H>B
Conclusions:

I.B<S

I.B=S

A) only | follows

B) only Il follows

C) either | or 1l follows

D) neither I nor 11 follow

E) both I and 11 follow

Answer

Option C

Solution:
B<L<W=D=S§,s0B<S

7. Which of the following would replace % and # in the following expression so that A < B holds
true?

Q<D%S>A=W;B>P#D=7Z>X

A)>, <

B) >, >

C)>,>

D) >, =

E) None of these

Answer

Option C
Solution:
A<S<D<P<B

8. In which of the following expressions does the expression ‘B < H’ and ‘A > G’ definitely hold
true?

A)A=B<F>H=K>G>D

B)D>A=G>B=F<G<H
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C)A<O>G<H=H=>S>B
D)G=U<B=E<H=0<A
E) None of these

Answer
Option D

9. In which of these expression ‘L > P’ is definitely false?
A)YW<P>S>Q<N>A>L>V
BIN>L>M=D>B=A>P=R
COOM<A>L>W2>V<B=P<S
D)S>L=C>H=H>P<Q=T
EYB>L<A=M<Q<T=P<G

Answer

Option E

Solution:

In A, B, C —relation between L and P cannot be determined, so cannot be told that whether ‘A <P’
is definitely false or not.

In D) — L > P, so cannot be said that whether L > P or L = P, so cannot be said that ‘L > P’ is
definitely false

InE) —L <P, so ‘L > P’ is definitely false

10. In which of these expression ‘A < P’ is definitely false?
AYW<P>S>Q<N>A>R>V
BIN>A>M=D>B=L>P=R
COM<A>L>W=>=V<B=P<S
D)S>A>=C<H=P=<Q=T=K
EYB>L<A>M>Q<T>P<G

Answer

Option B

Solution:

In B) — A>Pso ‘A <P’ is definitely false. In other option, relation between A and P cannot be
determined, so cannot be told that whether ‘A <P’ is definitely false or not.
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